> . > < S 25 E |
<1>q3“%$d3qaa%*§(%xgﬁ\3€uﬂﬁaﬂg i ;f;:: gﬁgﬁagﬁ%‘lllozgg
X ~ DL ] >+ . a5 N2 A s 2E B A Hh RE 24T wogm AlEeFA 1115018178
3 T B R A
() FFAMMIE = F PTIEE R=EISTHIERRS) ~ 13T-6335 (3R 5) ~ 13T-T#32 (3R 5) = a8 AR B E A
= > \ “.a».
(4) % 35 A( L3P A A): 13T () GERE) ~ 137-63035 (37 2) (FRE %) ~ 13T-TH () (R E %) BolaoE oAnmmm
w |oafEabi 2P T EEREE KRE &I
if X : ﬁ
4R 4R 2
4R 4R .
3 4R 44'; # ; iff ki
=2 = . C i °
= oM 2 10M XY —-:i““ = 2 w2 :
X e C 4R 0 4R 7 o
w 9% R o
__________ .h(gg:%) 127.52 ‘((127.46 4£2 /- . 1356—47
¥ | (126.84) R

. 127.23 il

M fxdE10042A 148 & 9%

y 035% 3R
A 4 RS
SCE O I )

‘ BT [12s.61)

(0 fR3E10042 A 148 ¥ 77 4E

A ot ot 14 P09 2350 n AN R T @ |95
T
_____________________ . (126.50) 12725 e i Eﬂ\%m ll
”0’0‘ S HARAAR AT I o -(1.26’78) ~ -
SGEFeBXRER L] 16 66 127.28(,243C028 o %
" (126.31) 196.90 b 127.39 - SO
126.79 - _ . BT (126.66) o
g | AC : ? ' -
A 126.27)
=' 5'
_\.
\ ifr il iff
|
|
\
67552 \
\
4}]{.3 ol551 |
|
|
|
o1 o287 |
|
| i
o7 o7 — T
WAk FZE S=1:500
%
f£2 f£3 TR | of3C0%8 | S AC
ETEERE | v VAS)es:if PC
eRtER ] |Eae o
MWiEERE | 8] |EEE o
12 A TR |t *
E=ili HEE ®
K — |{2H ®
5 e A (=)
1£1 WLTEE |vv|(EH &
A X——X— | i e
ST FrLEL S
EfE  |jooooo g EA e O284
R ——
2 gy 2k
520 BHEYIHAME
=R
1£3 sz
] RAHE
V%
-1 iy
. RARE
O— HMBhA I .
/ b (/Y
13 "Qﬁﬁ%@ﬁﬁ
G
(N
152 ‘gﬁ"’, )
/]
1£3

fir & S=1:3000

15 13548 R




